	
	ALGEBRA 2    UNIT 10




Name:____________________________

Study Team Test





Date: ________________ Period:______

Show all your work and reasoning.  Use a pencil and highlight your answers.

	
	1.  Sketch a graph of the equations.  Label all intercepts on part (a).
	2.  Write the standard (expanded) form equation of a 5th degree polynomial 
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 given zeros 
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	3.  Consider drawing only one card from a standard deck of 52 playing cards.  Determine the following probabilities.  

	
	a)  P(draw black or 2) = 

d)  P(draw a 7, 9, or Q) = 
	b)  P(draw 4 and K) = 

e)  P(not ♥ or not 5) = 


	c)  P(J ♥ or Q ♣ | face card) = 



	
	4.  Consider drawing two cards from a standard deck of 52 playing cards.  Determine the following probabilities if no cards are replaced.

	
	a)  P(1st card is ♠, then 2nd card is ♦) = 

c)  P(both cards are 10) = 


	b)  P(1st card is ace, then 2nd card is 8) = 

d)  P(2nd card is ♥ | 1st card is ♠) = 



	
	5.  Solve for all solutions of x.

	
	a)  
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	d)  
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	6.  Write out the sample space (all possible outcomes) for flipping a coin 3 times.  Determine the following probabilities.  s = {___________________________________________________________________}

	
	a)  P (all heads) = 

c)  P (at most one tail) = 
	b)  P (exactly two heads | at least one head) = 

d)  P (not all tails) = 

	
	7.  A spinner has 40% of it colored blue.  Red and green make up the rest of the spinner with red and green taking up the same amount of space.  Make an area diagram show all possible outcomes for 2 spins.

Determine the following probabilities.

a)  P (same color on both spins) = 

b)  P (two reds given same color spun twice) = 

c)  P (at least one red) = 

d)  P (both same color or at least one red) = 



	
	8.  Given
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a)  List all possible rational zeros:
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	b)  P(x) factored:  ____________________________

c)  Determine all zeros:     x = _____________

d)  Sketch a graph of 
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.  Label all intercepts.




	
	9.  Simplify.  Write answers in 
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 form.
	10.  Evaluate.
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	11.  Identify the type of conic section, then write the equation in standard form.
	12.  Determine the function 
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 that generates the graph.
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type: ________________
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type: ________________
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